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AlfE HE—EX

HEMIRT-2

BT AA—Z — i A - (EH

A - B BANL EB i (F)
NB 2.5 ni/h =) 0 11, 790
NB 4 ni/h (V) = 0 11, 900
NB 4 ni/h =) 359 12, 630
NB 6 m/h = 513 12, 630
NB 10 m/h (/M) = 0 26, 320
__|NB 10 ni/h = 0 39, 480
E{ NB 16 ni/h =) 0 39, 480
E]% N# 25 ri/h & 6 71, 480
N 40 ni/h =) 3 107, 370
N# 65 ni/h = 0 171, 060
N 100 ni/h =) 5 171, 060
NEIZEHEH~A =2 25 m/h = 1 124, 220
NEIZEKEH~A 2 40 m/h =) 0 161, 060
NBIZEZHA~A 2> 100 m/h = 1 255, 790
NB 2.5 ni/h =) 0 9, 550
NB 4 m/h (/) =) 0 9, 550
NB 4 m/h B 0 9, 870
NB 6 m/h =) 0 9, 870
NB 10 m/h (/) = 0 25, 790
" NB 10 m/h =) 14 20, 000
&= |NB 16 m/h =l 1 20, 000
%Z N# 25 mi/h & 3 21, 060
N 40 ni/h =) 1 42, 380
N# 65 m/h =) 0 79, 230
N 100 nf/h =) 1 79, 230
NEIZEZHEHA~A =2 25 m/h = 0 110, 800
NEIZEHEH~A 2 40 m/h =) 0 126, 590
NARZEBEH~A =2 100 m/h = 0 126, 590




